

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

## State of West Virginia **Solicitation Response**

Proc Folder:	1167405	1167405					
Solicitation Description:	Addendum 1: 08	Addendum 1: 08230036 - Galvanized Structural Steel					
Proc Type:	Agency Purchas	Agency Purchase Order					
Solicitation Closes		Solicitation Response	Version				
2023-02-14 14:30		SR 0803 ESR0213230000003727	1				

VENDOR				
000000200005 WV STEEL CORP				
Solicitation Number:	ARFQ 0803 DOT2300000055			
Total Bid:	49713.02999999999883584678173 Response Date:	2023-02-13	Response Time:	11:34:20
Comments:				

FOR INFORMATION CONTACT THE BUYER Dusty J Smith 304-414-6859 dusty.j.smith@wv.gov

Vendor

Signature X

FEIN#

DATE

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amo	ount
1	W21x111, Galva Steel, AASHTO N	nized W-shaped Structural //270	22727.000	LB	1.530000	34772.31	
Comm	Code	Manufacturer	Specification		tion	Model #	
111017	'04						

#### Commodity Line Comments: delivery based on material availability

#### **Extended Description:**

W21x111, Galvanized W-shaped Structural Steel, AASHTO M270, Grade 50 Ship 4 pcs @ 51'-2 1/4", 45 degree RF Skew fabricated in accordance with Exhibit B

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	C12x25. Galvanized Structural Steel Channel, AASHTO M270	3500.0000	) LB	1.530000	5355.00

Comm Code	Manufacturer	Specification	Model #	
11101704				

#### **Commodity Line Comments:** delivery based on material availability

#### **Extended Description:**

C12x25, Galvanized Structural Steel Channel, AASHTO M270, Grade 50 Ship 7 pcs @ 20'-0"

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	L 4"x4"x1/2" (12.8#/LF) Galvanized Structura Steel Angle	al 320.00000	) LB	2.850000	912.00
Comm	Code Manufacturer		Specificat	tion	Model #
111017	04				

### Commodity Line Comments: delivery based on material availability

### Extended Description:

L 4"x4"x1/2" (12.8#/LF) Galvanized Structural Steel Angle, AASHTO M270, Grade 50 Ship 25 pcs @ 1'-0" fabricated in accordance with Exhibit C

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	L 4"x4"x1/2" (12.8#/LF) Galvanized Structural Steel Angle	320.00000	LB	2.850000	912.00
Comm	Code Manufacturer		Specificatio	on	Model #

11101704

Commodity Line Comments: delivery based on material availability

### Extended Description:

L 4"x4"x1/2" (12.8#/LF) Galvanized Structural Steel Angle, AASHTO M270, Grade 50 Ship 25 pcs @ 1'-0" fabricated in accordance with Exhibit D

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	1/2" Galvanized Structural Steel Plate - Bent Obtuse	180.0000	) LB	2.850000	513.00
Comm	Code Manufacturer		Specificatio	on	Model #

11101704

Commodity Line Comments: delivery based on material availability

### **Extended Description:**

1/2" Galvanized Structural Steel Plate - Bent Obtuse, AASHTO M270, Grade 50 (15.0#/LF) Ship 12 pcs @ 1'-0" fabricated in accordance with Exhibit E

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	1 1/2"x6" Galvanized Structural Steel Bar (30.6#/LF)	582.000	582.00000 LB		1385.16
Comm Code Manufacturer		•	Specifica	ation	Model #
111017	04				

### Commodity Line Comments: delivery based on material availability

## Extended Description:

1 1/2"x6" Galvanized Structural Steel Bar (30.6#/LF), AASHTO M270, Grade 50 Ship 1 pcs @ 19'-0", Mark M2 fabricated in accordance with Exhibit F

Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	3/4"x6" Galvanized (15.3#/LF)	Structural Steel Bar	291.00000	LB	2.380000	692.58
Comm	Code	Manufacturer		Specifica	ation	Model #
111017	'04					

# Commodity Line Comments: delivery based on material availability

## Extended Description:

3/4"x6" Galvanized Structural Steel Bar (15.3#/LF), AASHTO M270, Grade 50 Ship 1 pcs @ 19'-0", Mark M2 fabricated in accordance with Exhibit G

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	3/4"x6" Galvanized Structural Steel Bar (15.3#/LF)	291.000	000 LB	2.380000	692.58

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments: delivery based on material availability

## Extended Description:

3/4"x6" Galvanized Structural Steel Bar (15.3#/LF), AASHTO M270, Grade 50 Ship 1 pcs @ 19'-0" with slotted holes fabricated in accordance with Exhibit H, Mark M3

Line	Comm Ln Desc		Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	W6x25, Galvanized W-shaped Structural Steel		2500.0000 LB 1.650		1.650000	4125.00
Comm	Comm Code Manufacturer		Specification			Model #
111017	'04					

Commodity Line Comments: delivery based on material availability

## Extended Description:

W6x25, Galvanized W-shaped Structural Steel, AASHTO M270, Grade 50 Ship 5 pcs @ 20'-0"

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	1/2"x4" Galvanized Structural Steel Bar	109.000	000 LB	2.850000	310.65

Comm C	Code Manufacture	f	Specifica	ition	Model #
1110170	04				
		motorial availab	ili+, ,		
Commod	dity Line Comments: delivery based on	material availab	iiity		
	dity Line Comments: delivery based on ed Description:	material availab	inty		
Extende				16 pcs @ 1'-0", Ma	rk B1 fabricated in accordance with Ex
Extende	ed Description:			16 pcs @ 1'-0", Ma Unit Price	rk B1 fabricated in accordance with Ex Ln Total Or Contract Amount

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments: delivery based on material availability

### **Extended Description:**

1/2"x2 1/2" Galvanized Structural Steel Bar, AASHTO M270, Grade50 (4.3#/LF) Ship 16 pcs @ 0'-2 1/2", Mark B2 fabricated in accordance with Exhibit I